RH

TORANO SALVAGED RECTANGULAR CONSOLE TABLE INSTRUCTIONS

PARTS INCLUDED HARDWARE INCLUDED
NO. ITEM DESCRIPTION qry.
A[1] TABLETOP 1 o Screw (M5 x 30mm) 4 pcs.
2 ® Flat Washer (6 x 18mm) 4 pcs.
B [1] BASE 3 & Spring Washer (6rmm) 4 pes.
4 L Mounting Bracket 2 pcs.
5 = Clevis Pin 2 pcs.
6 ) Hairpin Clip 2pcs.
7 e Screw (M8 x 15mm) 2 pes.
ASSEMBLY INSTRUCTIONS 8 el Screw (M8 x 38mm) 2 pes.
. ) 9 o= —0 Lanyard 1pc.

1. Please find the corresponding numbered parts before you ltems 4-9 ncluded in anti-tp ki

assemble the unit. Place tabletop (A) on a flat floor covered
with a protective material to prevent damage to the tabletop.
Place base (B) onto the tabletop; keep tabletop position blocks on the underside of the top between the legs to prevent
top from moving horizontally. Secure using screws (1), flat washers (2) and spring washers (3). Place all screws in position
first, then tighten with screwdriver.

2. Attach furniture bracket (4) to the underside of console top horizontally (see page 2). Secure using screws (7) and tighten
with screwdriver. Fix wall bracket (4) to wall vertically. Secure using screws (8) amd tighten with screwdriver. Always
locate and attach wall bracket to stud. Do not depend on wall anchors. Secure using lanyard (9), clevis pins (5) and hairpin
clips (6) to connect furniture and wall bracket as shown.

3. Adjust levelers as necessary.
4. Assembly is complete.

A\

11118 Page 10f3



Step 2:

EXAMPLES FOR SECURING

Wall stud

DOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOC
sttt T T T T T T T T T T T T T T T T T T T T T T T T T T T T T N T T T
et T T T T T N

T A P T T T T P T T T+ 3 F T 3+ 4 F 1 3 5 3 3 3 5 3 44 4 5 3 35 4 353 ¢ 4 0 54539
. +
0

0
00

11118

DOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOONOOOOOOC

Furniture

ATTACH TO UNDERSIDE OF TOP.

Adjust Levelers

HOW TO USE HAIRPIN
To install, push or pull Bow-Tie™ into hole. Pull locked loop up and over to

release.

Step 3:

NN

Anti-Tip Kit

Torano Console Table - Page 2 of 3



CARE INSTRUCTIONS

1. Use coasters or placemats to help prevent marks or stains.
2. Avoid mineral oil, as usage could discolor the wood.
3. Wipe the table clean with a soft, dry cloth after each use.

IMPORTANT SAFETY INSTRUCTIONS

Exercise care and caution when moving furniture, as careless handling may cause injury and damage.

Never drag furniture. Always lift it.

Periodically check all connections to ensure none have come loose.

Retighten when necessary. Incorrect assembly of furniture can be dangerous.

No liability will be accepted for damage or injury caused by incorrectly assembled furniture.

Heavy item warning: Take care and seek assistance when lifting heavy furniture to avoid personal injury and/or damage to
product.

O O AE WD

1118 Torano Console Table - Page 3 of 3



	Blank Page
	Blank Page



